rmm#ayﬁw% gwyﬁraﬁ?iéeﬁayﬁr vﬁmwﬁawwﬁmmf@ﬁsﬁ#ﬁqﬁwﬁm :
| g ot @ v e @ 9, Tl e el afy @ o T B | S G
|t g 91 ot o 7, e g A @ 5 T g A G
| vﬁmeﬁa#ﬁ&ﬁ/vﬁmeﬁfaaﬁwyﬁrﬁaﬁmw#aﬁ#/ |
L.

iy o e S W ——cn i ikt WIS o S S— —
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ey e

59w gﬁa&v m? 79T T
@l 579 e @8l 7 71q 1/ Do
not open this test booklet
until you are asked to do so.

Question Booklet Number
e 3ﬁaa;|¢ wi%

st / Instructions

1. 997 U B 5 B Y e, HIAT AN T gRaesr ofiT i TR, I~ o Wi B oN ghiiveam wY R
— w9 qaeT R ol . oI, T Y 9 Gl YN ¥
— e gitaet %l gss 3w ¥ i ¥ o wdl gssl w1 At we g ¥ ‘
Ty o1 RreiRy/ey & W ), el &l v S oY, ST, T Bl EE % forg T SifieteTT ) Wt ) e A9 e arlien
IO B & uiE Prve wre o dee X R ofr srdyemmaRy e Rrare @ Reun s sed g st getardt €em
Before attempting the question paper, kindly check your Question Booklet(QB) and O.M.R. Answer Sheet and ensure that:
- Serial number of Question Booklet(QB) and OMR Answer Sheet is same. .
- All pages and all questions are properly printed
In case of any discrepancy/defect, the candidate should immediately report the matter to the Invigilator for replacement of Question
Booklet(QB) and OMR Answer Sheet. No claim/objection in this regard will be entertained after five minutes of start of examination,
candidate will be liable for the same.

2. SIHeT S-UE & I Ry g wf Py w1
" Read all instructions on the reverse of OMR Answer Sheet.
3. IR SER--USI U A A ard @IS I 1 Y90 B 1 B, SIUHITY ST 3§ STun O HeY ofiv sy wemrly wdl da @ W)
On OMR Answer Sheet, use blue ball point pen only. Please, fill your Roll No. and other information correctly in OMR Answer Sheet
4, aefy 9ot % wor ofe ¥ 1l Rl wew & forg uw @ stfires eIt oiftea R WY ¥ Y 98 e S e W
All questions carry equal marks. If more than one response is marked for a question, it would be treated as wrong answer.
B, uae we ¥ dte freva/miet ¥ 1 Tea wR Rrssea e A, B, C it D SugsRy Sav & defha ¥ ok dieat Rreseu/mien ‘B ‘orpafa g 4 d
|
Each question has five optlons/mrcles First four options/circles A, B, C and D are related to appropriate answer and fifth optlon/cn*
‘E’ is related to ‘Question not attempted’.
6. T IuT eni & fag ervgdl Y o W e, Su-use v deifta ven dear & ued a e A, B, Cmnﬁ@rmwﬁmﬂﬁ%aﬁ%w
© g U H A I A et TRt wew et e 1l 3 wrean § ) wiad fumeu/Mw ‘B @Y e wan 8]
To indicate the correct answer, the candidate has to fill in only one option/circle A, B, C or D with blue ball point pen for respective
question number on the OMR Answer Sheet. If the candidate does not want to answer any question then the fifth optlon/cucle ‘B
should be darkened.
7. ol uig e ¥ § i A Reed/ e we et Rear T | wen w1 1/39m sies wre far s
1/3 part of the marks will be deducted for the questions, if none of the option/circle options are darkened.
8. e T G HT YT Sleh I 1/3 WIT e ST e SH A A Ay S A1 Rodl 99 & O @ afrss s A ¥
1/3 part of the mark(s) of each question will be deducted for each wrong answer. (A wrong answer means an incorrect answer or more
than one answers for any question).
9. 10&1%31?{@(37%9&%&%%&&@@@%@meﬁmmﬂé’rmweﬁwvﬂm%m Frary @it % frar sem
If a candidate leaves more than 10 percent questions or does not darken any of the five options, he/she will be disqualified for the exam.
10. el @t 7S e % g w9 A H9 U e/ w3 ¥ ar w8t g ghifvaa s & fig 10 e sifafie R smdd
Candidate will be given 10 minutes extra to make sure, if he/she has filled up any one option/circle for each questions.
11, Tfe uew & Ry o SiEsl wpRoT & HavT A aenees Ueh @Y et ot wene o srerse/ ey B, | aidsh demvor @ sifte wm s
If there is any sort of ambiguity / mistake either of printing or factual in nature in Hindi or English version of questions, then the
English Version will be treated as final.
12, 7l s & HaEa sy amy o el o getaeite fiore o audn wea affa ¥ gl fedt eradl % o Ol i wiefe gl o
o1 3u% fueg Prampar aea wriag &6 smoi :
Use of Mobile Phone / Bluetooth Device or any other electronic gadget in the examination hall is strictly prohibited. If any such
prohibited material is found with any candidate, strict action will be taken against him/her as per rules.
Ecicee aﬁaﬂémﬁmmﬁg@mm%ma@&ﬁaﬁ%mgﬁww%mmm@é srrfrga wrrly we sl ¥ Y ous Rawrs
YRE Qo ¥ U159, & &Y Ay oY e wow arwife v ettt 2022 ol et siffrm 2023, (Rt § e wnee @ Qaam
% STEUTY) % ed YeraHT T 3 R1g Srvard evn Rved 10 @ % srrse sroam aar T 10 %3S o %1 ST & 15 4 2 wiferer oy sl vt
{ e vy ¥ Rrafia o Rear s aswar ¥
Warning : If a candidate is found copying or using unfair means or if any unauthorlzed material is found in his/her possession, F.ILR will
be lodged against him/her in the Police Station and he/she would be liable to be prosecuted under State Public Examination (Measures for
Preventions of Unfair Means in Recruitment) Act. 2022 and Amendment Act 2023. The act has provisions of imprisonment of 10 years to
life and fine up to ¥ 10 crore. Board may also debar him/her permanently from all future examinations conducted by the Board.
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If you see a dairy cow which has calved 36

hours ago and is characterized by (a) rise in

temperature and excitement, (b) unsteady

movement and stiffness of gait, (c) sitting
with its head turned backward and looking
at its abdomen. Which among the following
measures will you adopt?

1. Addition of calcium in the ration
2. Give calcium borogluconate injection

3. Inflate each quarter of udder with air,
massaging with tied teats

4. Cows should be partially milked during
the 15t three days after calving

Choose the most appropriate answer from
the options given below :

(A) Only 1

(B) Only 1 and 3

(C) Only 2, 3 and 4

(D) Only 1, 2 and 4

(E) Question not attempted

afe amq fedr T T frawr awg 36 T UEA
ﬁagw%eﬁ'(wnmaﬂ(a)mmaﬁ'{ﬁw
=61 22 ¥, (b) HA T atferk = ¥, () &To

Rre A & are Hre T R A ol A g A |

T o oo P § | B W SU™ STOAT ?
1. A ¥ Sl &1 9

2. ferd SATE®RE H S 3T

3

L ET oW % AT W B B § e &
49 3 ggE b g A w

4.  wmel A F TR AW R, M @ sfewn
e B/

A o Ty Rl ¥ ¥ 99 IR I @

TR B

(A) FEE 1

(B) aw 1 ot 3

(C) ¥aw2,3 o 4

(D) Faw 1, 2 3T 4

(B) oraia wed

/\ 77AGSP-2

® e we

Arrange the types of water erosion based on

their impact, in ascending order.
1. Rill erosion

2. Sheet erosion

3.  Gully erésion ‘

Choose the correct answer from the options

given below :

(A) 1,2,3

®) 21,3

© 3, 1,2
@) 3,21
(E) Question not attempted

TAA—TTCET 6 THI BT 5% THEG B UL 7
% AR FERYT L

1. @ omuea

2. 9T HAUEH

3. mﬁwm

<t g e Pl & 1w were o e T

A 1,2,3
® 2,13
© 31,2

o 3,2, 1

(B)

The product formed by the fermentation of
any green plant material in the absence of
air is known as

(A) Hay

®) Sil

(C) Straw

(D) Lin

(E) Qu n not attempted _
T % orgeRafy § Red o oRa e % Revew
TR €9 IR B  wEd ¥

(A) g TE |

B) -
©
D)

“the following is considered as the
f riboflavin?

Irrigation scheduling deseribes -
1. How much water is to be given.

is water needed to be given.

3. Sourc

the options gven below :
A) 1 o'nly“

®)
©

D)

(E) Quesﬁ%ﬁ not attempted

Riaré dromr B ¥ § feger e 3@ ¥7

B A ——



>In which of the following species is the fat
content in milk high?

(A) Buffalo

(B) Cow

(C)  Goat

(D) Camel ’

(E) Question not attempted

ﬁﬁfﬁ@fﬁﬁ@ﬁmﬁr%@ﬁmww
BT B 7

(A) ¥«

B) ™

(©) ==l

(D) w2

(E) ergaica w99

Which disease can be prevented by
vaccination?

(A) Milk fever

(B) Black quarters‘

(C) Mastitis

(D) Bloat

(E) Question not attempted

ﬁaimwma?ﬁ@fﬂwa%ﬂwwmaﬁw
Hehal &7

(&) gH v
(B) &% FREI
© it
(D) =i (g
(B)  srgaiia w99
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3. Affected birds

Which in NOT true regarding Fowl Cholera?
1. Tt affects all classes of Féwl
2. It is a contagious disease

show: gasping,
coughing, sneezing and difficulty in
breathing = Fi¥ ‘

4. It is caused by v1rus

Choose the most appropriate answer from

the options given below :
(A) 1 only

(B) 2 only |

(C) 3 only

D) 4 only

(E) Question not attempted

‘ ﬁw%@aﬁ%ﬁm%mw%m%mﬁ

& i w8 ¥

1. g%« gage & o &) g Har ¥

2. u“séiiﬁmﬁw%n

3. e wd B ¥, Wi w ¥, o ¥
ot o Wi A A e B B

4. =g fawm g g ¥ ‘

H Ry g R ¥ ¥ w9 SugE SO @

T BT

(A) waa 1

(B) &aw 2

(C) w%aw 3

(D) %aw 4

(B) ergafa ue ST 108

- 10

Who is the Originator of Bishnoi
Sampradaay?

(A) Jambheshwar Ji

(B) Haridas

(C) Surat Gopal

(D) Mahav Manohar Ji

(E) Questioninot attempted
ﬁwﬁlﬁaaﬁ%aﬁﬂﬁsﬁéwm%qaﬁas%?
(A) m&aawﬁ

B) whewm

©) @

(D) w&a TN

(BE) orana usa

Which of the following crop belongs to
Citrus species group‘?

1. . Kinnow

2.  Sweet orange

3. Jack fruit

4.  Mandarin

Choose the most appropriate answer from
the options given below:

(A) 1 only

(B) 1,2 and 4 only

(C) 3 omly

D) 1,2,3and 4

(E) Question not attempted

fre & @ o @ wow Ry sl @ deEtm
g7

1. fey

2. ¥ Ea]

3.  &Ed

4. Fsfm (Brer waw)

R fiw o el § O 9E9 SUgE IAT 6
TIF B

. (A) HaEw 1

(B) %aw 1, 2 olx 4
(C) aw 3

(D) 1,2,3 8R4
(BE) orgaia s

/\ 77AGSP-2
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- List T (Fruit

Who built five Patwa Haveli in Jaislmer?
(A) Rana Uday Singh

(B) Banne Singh

(C) Rawal Veer Singh Dev

(D) Guman Chand

(E) Qﬁestion not attempted

frey Srawie ¥ Ui geer SR Eﬁ“ﬂs‘?
(A) o SEARdE

B) == fs

(C©) e 9K fis 3=
D). T T

(B) organta usA

Match List T with List II
List Il (Commercial

crop) propagation method)

a. Mango I. Air layering &
. budding

b. Grapes I. Side graﬁing

c. .Papaya 1. Seeds ’

d. Guava IV. Hardwood cutting

T 1% sy gy 1 &1 fram st

o 1 (el A ) g I (anferRrs dadm )

a. ™ I =g 9@aA qodr e
b. & I e &ew Ao

c. Tdrar I S

d. swEs V. 3% &% &

Choose the correct answer from the options
given below :

9 g o Rresedt F § wE IO @1 I BT
(A) a1, b-I, ¢, d-IV
®) alIL b-IL, c-I, d-IV
(C) a-IL b-I, cII, d-IV
(D) a-IL b-1V, c-IIL, d-I
(E) Question not attempted / STHaNa 97T
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In which of the following fields, is the
‘Sunder Kanti Joshi’ Award given in

Rajasthan?

(A) Literature
(B) Wome
(C) Social work

(D) Kabad
(E) Questé’i"’?n not attempted
ST H ﬁﬁﬂ &3 9 gIRC Hifa el g

T 1 & wre g2 11 &1 frem s
o
L R
b, I s
e T dsTEda
d. IV. @

%mmmﬁﬁeﬁwmwaﬁﬁq:
(A) alL b»IV c-1, d-III
(B) a-Il, b-IIL ¢TIV, d-I
©) a-l, ¢
(D) a-IV, ]
(E)

L oL, dIV
oI, d-TI

-t

15 freiofea & @ o’ B! YT H O qe

16

ERGY
(B

(B

O

Y qEE Y
1. W% ¥ gww wd ¥

LR W N

©
D).
(E)

The onion varigties grown in plains are
categorized as

(A) Short day
(B) Long day type
© Intermediate type
(D) Day neutral

fEr ael o

(A)
B)

()
()

Rennet is used for the preparation of which
dairy product?

(A)y Curd

.(B) Ghee

(C) Cheese

(D) Cream )

(E) Question not'attempted
%ﬂﬁ%ﬁﬁéﬁﬁ@f%ﬂm?ﬁaﬂﬁ%m
W &1 IYANT T S 37

(a) =&

B) =

(C) T (dr)

(D) @M |

(E) @@ 9ed

Identify the cattle breed on the basis of the
breed characteristics given below.

- Protruding broad and long forehead
- Pendulous frontward turned ears

- Colour is white with dark red or
chocolate-brown patch distributed all
over the body.

(A) Gir

(B) Tharparkar

(C) Rathi

(D) Malvi

(E) Question not attempted

A R 1T e % wal e WX, qadh &
T qedlgl

~  w ey freen gon drer oiR @R Awaw

- o & AT §S gy P am

~ o 1 P W E orl) I T e

el ) T % s faia ¥
(A) fr
(B) gt
(C) &
(D) =l
(B) oraRa e
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Match List T with List II

List I List 1I

a. Alcohol Test 1. Impurities and dirt

in milk |

b. COB Test 1L Testing adutteration
of cow milk with’

Buffalo milk

"¢. Sediment Test III. Heat stability of milk

d. Hansa Test  IV. Determination of
| | | shelf life of milk
T [ % @ g 1 o1 e #ifsg
w1 W@
a. wEEm ¥ L gu ¥ sy of fell
b, Set & X I wE ¥ 3T B Premae
B ¥F % g TR Sd
. ’ .
o A Te ML gy B e Rewar
d. 3@ IV. g & fram oy

fretfa w

Choose the correct answer from the options

given below :

9 R Tw Rrepedt ¥ ¥ 98 SR @1 T BT
(A) a-l, bl c-IL, d-IV |

(B) a1V, bIl, oI, d-I

(©) a-l, b-l, c-IV, d-HI

(D) el b1V, ¢-L, d-II

(B) Question not attempted / Fgaia 99



‘.20 Mechanical analysis of soil texture is

FH

») Fourier’s%‘ léw

Question not attempted

21 The date pal
through :

(A) Budding' -

is commercially propagated

(B) Grafting_
©)
D)
€2)

/\ 77AGSP-2
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(B) orgafa wed

Match List T with List II

List I (Fertilizer) List [T (Percentage

.. of Nitrogen)
a. Urea , 1L 0%N
b. Sodium Nitrate % II.  46% N
c. 0-16-12 1L 16% N
d. Diammonium IV. 18% N
- Phosphate
g [ % @ g 11 &1 R Bifwg
T () T 11 (i
% wr=N)
a. i I. 0%N
b. aftgw wigee II. 46% N
c. 0-16-12 OI. 16% N

d. sremiPEE widse. IV, 18% N
Choose the correct answer from the options
given below : . .

A fag o feedl § FXE TR H T BV
(A)  a-IL, b-IIL, c-I
(B)  al, b1V, c-I,
(C) a1V, b-III, c-II]
(D) a-1V, b-1I, c-I
(E) Question not attempted / SRR T

;

24 Match List I with List II

List I (Animals) List I (Breed)

Bz,

a. Goat - 1. Pugal
b Sheep II. Gomath |
c. Cow Il Sirohi
d. Camel IV. Malvi

»

Choose the correct answer from the options

&

given below
13 g T et & Q& wE) o B g AR

(A) -a-lV, b-I7¢-I1I, d-II

T
Ty

B) all, b-I, c-IV, d-II
(C) oIl b-ll-¢-L, d-IV

(D) e, b-L,

(E) Questionraot attempted / STaRa WA

/\ 77AGSP-2
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(D) Bio-regulators

Which one of the following pairs does NOT
match correctly?

(A) Sambhar Lake — Jaipur
(B) Rajsamand lak
(C) Navlakha Lak
(D) Balsamand lal

(E) Question not |
Preeiefer & 2 A g g R T
(A) |

(B)
©
)
(E)

Which of the following:is the most-important
constituent for jelly

(A) Sugar
B) Acid
(C) Pectin

(E) Question not attempted

e TN & fow e @ré‘_ér@rtrsafg‘fazas
HF A E?

(A) T
(B) &=
(©) ks
D)
B
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Cows provide milk. Which is the only source
in vegetarian diet.

of animal

1‘. vitamins -
2.. protein

3.  minerals -

4.  carbohydrates

Choose the most appropriate answer from
the options. given below :

(A) 1 only

(Bj 2 only

(C) 2 and 3 only .
(D) 1 and 4 only

(E)  Question not attempted

T W T YT RO T, S SRR S H
%7 Wi &1 THAH I |a B

1. fqafm

2.

3. afm
4. FETEESE

_%mmmﬁ%mmmm

T9T BT
A) ¥ 1
B) ¥ 2
(C) ¥aw 2 ol 3
(D) ¥aw 1 3 4
(B) oraRa 9w

10

28 -

29

The orientation of long-axis of the cattle shed

START U

should be
(A) North-South
(B) FEast-West
(C) North-East
(D) South-West
(E) Question not ‘attempted
AR % o (dre) B e o 1 ST
il
(A)  sae-gfm
(B) gd-ufem
(€) wut-gd
(D) =fqur—afyam
(E) srara s
el [ % g g 1 o1 frem #ifg
TN 1 (=) T 1 (Fw
a qasi I ey g9
b. F=HET I srerdreE o g
C. TIMEH | . &5 999
d. A IV. sgaft T
) R T R & T T BT T AR
(A)  al, bl ¢V, om
B) a-l, b-I; ¢-IV, d-TII
(C) al, b-IV, c-I, d-III
D) a-V, b-Il, oL, a-1m
®).

.

30

31

Match List I with List II

List I (Crop) List 11 (Botanical name)
a. Rice I Triticum aestivum
b. Ground nut II | Gossypium hirsutum
c. Wheat Il Oryza sativa
d. - Cotton I Arachis hypogaea
e 1 % W gl I 1 P i
T 1 (@) {11 (areafees )
a. 9Ed : fefemm weem
b. HTEe I e fRege

d. @ V. wXfee erEdfT

Choose the correct answer from the options
given below :

(A)
B)
(©)
(D) a-Il, b-I, c-IV,.d-III

(E) Question not attempted / Bﬁﬁﬁ'ﬂ L

B) MOP

(C) DAP

(D) SSP

(B) oraia usd
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Match List 1 with List I

g 1% a1 R #ifi

List I (Temples of List.II (Built By

Rajasthan) Which Dynasty)

a. Achalgarh L \~_~Mewar

b. Dilwara I i Guxjara Pratihar
c. Eklingji

d. Mahavir Jain

Temple (Osian)

T 1 (x5 4 g (R T

(enfram)

Choose the correct answer from the options

given below :

(A)  aIL b-IL, c-1, d-
B) &Il b1V, ¢, d
(C)‘ a-IV, b-1I1, c-I, d
(©) &Il b1V, oL, d-HI

(E) Question not attempted / STgART YA



33

34

(D)

(A

(D)

Match List I with List II

List I (Dams) List I1 (River)

a. Bisalpur I.  Chambal
b. Arwar II. Kothari
¢. Jawahar Sagar III. Banas
d. Meja IV. Khari
gt 1 % @i g 1 &1 frem @i
1 ) o 1 ()
‘a. d@EgT T
b. AR 1. el
c. WEET "X 0l ="

d. #m V. @

Choose the correct answer from the options

given below :

% R e Rrea § ¥ G T B T DI -
(A) &I b1V, oL, d-1I

(B) a-IL bV, oI, d-T -

(€) allL b, ¢V, d-I

| a-1V, b-1, ¢-11I, d-II

(E) Question not attempted / SIFART 7T

Feed cost accounts to % of the cost of

milk production. ‘

AT Y AT 3 ST A % % S 8
40-590

16070

75-85

90-95

Question not attempted / ST T

(B)
(©).

(B)

/\ 77AGSP-2
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(B

In Rajasthah “The Center of Excellence of
Pomegranate’ is located at :

(A)
B)
©
D)
(E)
o & FRE W T ST 6l S B
R ¥7 o ‘

(A) ﬁfﬁ?f

B) &

(C) R (w=d)

(D) <=

(B) omand ued

Sirohi
Churu

| Dhindhol (Bassi)
Tonk

Question not attempted

Which disease is transmitted by ticks?
(A)
(B)
©
(D)

Ranikhet disease

Anthrax

Mastitis -

Babesiosis

‘Question not attempted
fregeit 3 2T @ & G T e §7
(A) T |
(B) THEE

(C) wfefe™

(D) @R

(B) orgaia usd

37 Kesri Singh Barhath was born at which

38

/\ 77AGSP-2

place?

(A) Udaipur

Jodhpur

fymid

Shahpura

(B)
©

Bhilwara’ ! -

D)
Question not attempted

E)

Hal Ris aEs & S f6 W 9 gen ?
(A) @Y
(B) g
(€) wmega
“ﬂﬁa@

S 9s

D)
(B

Milking should be completed within
minutes. ‘

gamaﬁw;ﬁﬂzﬁmémﬁr%m
A) 6-7
®B) 9-10
© i2—14
(D) 15-16

(E) Question not attempted / SFFaRa ‘;ISH’

13

39

40

(D)

GV
B)

Silking is the reproductive stage that may
be observed in the following crops.

(A)
B)
©
D)
(E)
¥ @ o wehar ¥ ‘

&)
(B)
©
)
®)

Cotton
Maize
Rice
Wheat

Question not attempted

HUE
b1

Trere

it
IR

Which of the following is NOT written by
Ambika Dutt Vyas? ‘

A)
(B)
©

Bihari Bihar
Pavan Pachasa
Lalita
Vijaypal Réso
(E)
Frafafea & @ @ afewra @@ g faied
aE ¥ 7 \ | ’
ferll — e

gg= — Tt

aferen

oo — T

SN 99T

Question not attempted

©
()
®)

,



41 Ferric chloride test is camed out for rapid
assessment to identify . damage of
"legume seeds.
(A) Chemical
(B) Physiological
(C) Mechanical
(D) Biological I
(E) Question. not attemipted
vt o A Aty & @i e
e ¥ e HRe Faross wleer fean S ¥
(A) TrEEfE
B) skraeT®
(©) =it
(D) fu®
(B) orgaita usd
42 - Read the following statements regarding
camel managment.
Statement I : Camel Mﬂk has high
vitamin C content and glso has
comparatively longer sheif-life.
Statement II : It is diffi¢ult to prepare curd
from camel milk.
Choose the most appropriate answer from
the options given below™:
(A) Both Statement I and Statement 1I are
correct.
(B) Both Statement I and Statement II are
incorrect.
(C) Only Statement I
(D) Only Statement
(E) Question not att
Fe yeuw ¥ geta 9 B "TQEB?Fﬁa?IQ%ﬁI
Fu 1 : w%;&ﬁmwﬁﬁaﬁw@r%ﬁm
¥ ofrt goTer B & g frar oy et
oy
w1 Ez%sia*@ré@tmw%ﬁ%l
A o g Rl ¥ & qed SugE A B
TIT B
(A) w1 it we IET w2 ¥
(B) aﬁmlaﬂ'{mﬂﬁaﬁrw%l
(C) waw HuF [ €& 1l
(D) %aw oo I @& &)
(B) orgaia usd
/\ 77AGSP-2
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44

(C) 0.002 to 0.02 mm

A > 2

(C) wE v/ iy dw

The size of the clay particle is :-
(A) >2 mm

(B) 0.2to2 mm

(D) < 0.002 mm

(E) Question not attem d
Rt Pt % ol o o (SET) B ¥
(B) 0.2 %2 fElt
(C) 0.002 & 0.02 felt

(D) < 0.002 fyfr

(B) ogafia ae

Pusa Pragati is an important variety of _____
(A) Garden pea
(B) Mango

(C) Citrus

(D) Bottle gourd

(E) Question not attempted

(A)  wEF 7Y

(B) ™

(D) <t
(B) omaR@ ws

/\ 77AGSP-2
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45 Match List T with List II

List I (Element) List II (Symptoms)

~a Zn : I. Pahala blight of
Sugarcane |
b.‘ Fe II. Hidden Hunger
c. Mn o IiI. Interveinal chlorosis |
d K IV. Khaira disease
gl [ % ey g 1 @ e g
T 1 (@) | T I (wern)
a. Zn | L T # e
b. Fe IL m'm ger
. Mn I sfer farrr s

d K IV. @u

Choose the correct answer from the options
given below : ‘

4 fg g R # & Wl eI 1w AR
(A) a-II, b-III, c-I, d-IV

(B) a-IIL b-IV, c-I, d-II

(C) a-1V, b-l, c-II, d-1II

(D) a1V, b-II, c-I, d-II

(E) Question not attempted / Sl uew

15

46

47

According to US Soil taxonomy system, soil
is classified into order.

aﬁa%(US)qmaﬁmwm%W,
TaT B wife & aiipa fmar T B
(A) 8 |

®) 10

©) 12

D) 14

(E) Question not attempted / STk ues

Match List I with List II
List T (Vegetable List Il (Varieties)

cerops)

a. Carrot I.  Arka Anamika
b. Cauliflower II. Bhima purple
c. Okra 1. Pusa Asita

d. Garlic | IV. Pusa Meghna
g 1% ary gar 1 &1 fam Sisg

T 1 (wfsmai A Uﬁ?ﬁt ) @ I (w=r)

a. WET I ot ST
b. GEHT IL o adad (S9)
c. MY T gar erfa

d. tﬁg:r V. AT

Choose the correct answer from the op‘uons
given below :

Y e 1y fereat § @ w2 SAX A1 TT BT
(A) a-l, b-1V, c-, d-1I
(B) &I, b-II, c-IV, d-1
() al, b-IL, cIII, d-IV
D) aIV, bel, ¢TI, d-III
(E) Question not attempted / STTART U



48 Prefefad & & g Tt A wE B -

2. T SUH! STERAT A I By ¥
3. H HAT B T g

4 \‘gémws@rwmgl
5. eﬁ“@w%aﬁaﬁm%l

49

®

%ﬁﬁqwﬁmﬁ%aﬁmwm

(C) ﬁwzaﬁ“{4
(D) %aw 5

& 10
Revaesr 571 Be gOT B L sErmyg
e e wea & I afim
e & Rt s NI arot
V. smrefy

b-I; ¢-II, d-IV
a-1ll, b-1I, c-I, d-TV

STaiE weT

(D)

/\ 77AGSP-2

50  Match List I with List IT-

Toxicity 6f Al & Fe - L
Amendmé s with I

gypsum

ECe >4 ds/m II1.

a-II, b-TIL, c-TV, d-I

Question not attempted / STRIRT F¥T

0L

List 11

Sodic Soil

Saline Soil
Acid Soil

Calcareous

Seil

ST &I

IV. fegrmea gar

51

52

@a & gera &1 et ord B W g7

Skn‘tlng

Choose the correct answer from the options
given below

(A)
(B)

1 only
3 only

4 only

©
D)

2 and 3 only
Questiogp%not attempted

Hed 2 e?h“{ 3
AT 99T
/\ 77AGSP-2
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54

What is the minimum concentration of fruit
pulp/Juice in the ideal squash?

ot omast = tﬁﬁr%@/maﬁrw
qigar ReeT S
(A) 10%
B) 15%
©) 25%
(D) 50%
E)

Question no

Match List T wi Li

List I (Vegetab List II (Number of

crop) chromosomes)

a. Carrot 3 I. 24

b. Tomato II. 14

c. Common oﬁ n III. 18

d. Pea | IV. 16

& 1% @ g 1 w1 R AR

TN (i f wed) o 1 (e = )
©a TR L 24

b. AR ’ I 14

C. WY e, . 18

d. =X IvV. 16

Choose the corfeet answer from the options
given below : °

9 Ry o Rrewedi & ¥ W€ I B T BT
(A) a, b-IL,
®
©
D)

(E) Question not attempted / STARE U



5 ‘g BFT gETer @ ard & — 58 Match List T with List II ’ 59 Mycorrhizza is the symbiotic association 61
: bet t system_of hi
(A) T B List I List T aﬁdween root system 0 higher plants
- (B) gq W & ‘ : _ a. Footand 1 Extension of one leg , (A) Fungi
(C) g1 & . ’ : B) Bacteri
N : : - mouth forward and the ' (B) Bacteria
(D) ¥ & o v ‘ (C) Nematodes' -
(E) m@?rﬁ'ﬂ 9 disease other backward (D) Virus (D) 9w = HTW
- _ (B) omgana g9
b. Mastitis II. Animal walks in circle (E) Questlon not. attempted
56 isa bacterial disease. c. Marek’s ITI. Blisters in the mouth Q" ey o 62 Match List I with Eist 1I
(A) Hemorrhagic septicarmia " _ ) ' ' List I List II
' . , isease ' : HAD :
B) Mﬂk fever ‘ | , ®B) a. Cooling of . 135-150°C for
(C) Ranikhet disease ~d. Ketosis IV. Hot, Swollen, © . milk 1-4 seconds
(D) Foot and mouth disease : , ' ' painful udder D) f b. LTLT "I 72°C for
(E) Question not attempted : Pasteurization,. 15 seconds
, _ - .gﬁrl%m&aﬁllw&rﬂﬁﬁﬁq (B) organ@ 9s ‘ .
V_____________@?Gﬂ’cwﬁﬂ%x ‘ | C"S,TfT, t . 4-5°C
‘ : I I : asteurizatio
(A Wﬂr&ﬁﬁ SIERCRR] v ( -{fh @ ’ » 60 Match List I with » d. VHT ' 63°C fOI‘
(B) e WaR (8 w) , A wR AT L T 2T T ST fr List I (Freedom fighters) List II (Places) Pasteurizatio 30 minutes
(©) THEa W S 3 el @ et -a. Kuman Kusu L. Jod}?pur
D) T e S ) _em . o b. Laxmi Devi Aaac arya II. Udaipur 1 @ I
‘ . Tifefed . SFE ; i '
(B) orgafa wsd T §Y c. Bhagwati Devi’ III. Bikaner I 135-150°C,
| - d. Savitri Devi Bhatl IV. Kota '
| o | ‘ T 1-4 ¥%vs % fag
: ' . ' o @I%w&@llmﬁﬁﬁaﬁﬁq b FUNEREN . o
57 g 1% = g 11 @ e wifg c. X wm AT L q& & BW . T ) . T T 72°C, 15 @
I (sr= 11 (T v % T
T I (=) o 1 (o) 4w V. ™, g, o€ B o L SR c. TwATEH 4-5°C
a. @B L e au ‘ . L s ~' '
. o Choose the correct answer from the options ‘ RIEEEE T I,
b. e IL IR L] X 1ML e ; .
‘ given below : d @i IV. 63°C, 30 e
c. RIE m. == BEIN IV. @it e % fm
d. ==q9 IV, fa e . e %q g fopedl @ W T AT A E'g'i T Choose the correc %éf‘nswer from the options | Choose the corte swer from the options
iy g g fereedt H § & O % g BT (A) a-L b-lIL ¢, d-IV R =20 given below : "
: ' Iaaﬁ(ﬂi & GT‘!'TEETEPFT a%xi%m_ .
(A)  aL b, c-1V, d-1II (B) a-II, b-1V, c-I, d-II ) W AR Ru 7o el 79 g8 SO B 99 BN
B) a-ll, b-IV, ¢, d-II (A) &Il b-1V, ¢-lI, d-I
B (C)  adl, b-l, c-IV, d-III , B) ; ® L Il o-IVe d-IiI
(© ol bl eIV, dll (©) a-IV, b-ll, c-ky.d-II ) bl e i
’ (D) alV, bl c-III, d-I ' » DT B (C) a1V, b-IIL ¢, d-I
(D) a-I, b-II, c-1V, d-1I o (D) a-IV. b-IIL c-I. d-I :
(B) orafta us ' © (E) Question not attempted / AN Y97 : PR | ' (D) &, b0, eI, d-IV '
, 1 . | (E) Question not attempted / Srgafta s+ " (B) Question not attempted / FIRE T9

/\ 77AGSP-2 18 | I\ 77AGSP2 19




63

/\ 77AGSP-2

Bizamrit Consists of

1. Cowdung

2. Urine

3., Lime

4. Virgin Soil

Choose the most appropriate answer from |
~the options given below: '

(A) 1 and 2 only

(B) 1,2 and 3 only

(C) 1 only

D) 1,2,3 and 4

E) ’Question not attempted

q e B

demgE_

4,  owgE y@

9 Ry Rl ¥ 8 wEd owpER SeC
YT BT ‘

(A) %aw 1 T 2

(B) W 1,2 o 3

(©) Faw 1
D) 1,2, 39 4

B) orgeRa 5o

64

65

Which of the following places in Rajasthan
presents the oldest evidence of animal

~ husbandry?

(A) Bagor

(B) Kalibanga
(C) Jaipur

(D) Alwar

(E) Question not dttempted -

Freafafaa & & @ wowam o™ o qy-aed

BRI

1 T9Y YN YHIOT YR Bl § 7
(A) SR
(B) e
(C) =mge
(D) em@FaT ,
(B) orgaia usA
Match List I with List II
List I ©oLiast IT
a. Beetal , 1. Buffalo
b. Nagauri II.  Sheep
¢. Nilj-ravi | . Cow
d. - Merino IV. Goat
Tl 1 & @ g 1 @1 fram s
LD S oI
a. A 1. 9w
b. =« II. 9
c. A TR HI. g
d # - IV. smh

Choose the correct answer from the options
given below :

g faw 7 fsedt & @ 98 SR A A9 HITC:
(A) adIL, b-L, ¢-IL, d-IV

B) a-, bIV, c-IL, d-III

(C)  a-IV, b-11I, c-L, d-IT

(D) a-Il, b-1V, c-1, d-1 ;

(E) Question not attempted. / Gﬂﬁﬁﬁ L

66

67

(€) Amla

% T % g g ¥

Which of the following crops, requires
permission from narcotics department for its
cultivation in Rajasthan?

(A) Eugenia aromaticum

(B) Papaver somniferum

(C) Piper nigrum

(D) Curcuma ;lo_,‘nga

(E) Question mot attempted

o #, Be ¥ ¥ B @ wEw o & fig
rehiied fdrT & oAkt o9 @ arasgwal
e ¥ P

(A) ol qidfe

(B) ¥t GHE

(©) B I

(D) g arm

(B)  orgaRa ust

Which of the following fruit crop is
susceptible for growing under saline and
sodic soil?

(A) Ber
(B) Bael

(D) Mango
(E) Question not attempted
frr o 9 e wa @ waw weelg qan 9T g

@) ¥
® @
(C) ifamm
D) e

E) | KGR

/\ 77AGSP-2 , , 21
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| 69

Who among the following is Sahitya
Akademy Yuva Puraskar Winner — 2023 in
Rajasthani language?

(A) Kiran Gaurav

(B) Niranjan Hansda

(C) Chander Bhan Khayal

(D) Devilal Mahiya
(E) - Question not attempted
Frefatea & @ feaw, Towarl Ao A, G

| arrEt gar e — 2023 wrat fe?

(A) Bt M
(B) friwH aar
(C) ==wH I
(D) e =ifEar
(B) orafa uea

Match List I with List II
List T (Crop) List I (Root stock)

a. Mango 1. Ziziphus
nummularia

b. Grapes II.  Rough lemon
c. Sweet Orange III. 110 R
d. Ber IV. Olour

’ @I%m&@llwmﬁﬁm
T I ( T 1T (we
a o™ L ﬁT&ftﬁH =g
b. ST L & fig
¢ #rer §aa m. 110R
d = IV. &mr

Choose the correct answer from the options
given below : :

T R o el F @ I8 99T @1 T9 B
A) a-l, b-1l, c-III, d-IV

(B) a1V, b-IIL, I, d-1

(©) al, b, c-IV, d-III

D) al, b, eI, d-IV

(E) Question not attempted / ARG U

.



70 The Cole crops include ‘
1.  Cauliflower"
2.  Cabbage

3.  Tomato

4.  Brinjal

" Choose the most apy opriate from the

options given below
(A) 1‘ only
(B). 1 and 2 only
(C) 3 and 4 only
(D) 4 only
(E) Question not atte pted

gitafaa ¥

‘%mmﬁmﬁ%iﬂwwww
TIT BT ’

(A) Wl
(B) Faw 1 oK 2
(C) %aw 3 &R 4

(D) e 4
(E) orar@ s

/\ 77AGSP-2

71

~ b. Drenching L

Match List 1 w1th L t 11

List I ist 11
a. Dipping Disinfectants.
Vaccines

¢. Spraying 1I. Internal parasites

d. Injection V. External parasites .

o 1% ﬁaﬁa‘ﬂﬁm
o 1 o 10

2 R () ot

b. e () %

c. e (Feewrg) . erafie gwsiE
d. gerR™ V. a@qﬁé‘r

(A) aIIL, bV,

(B) al, bl c-

(©) a-IL b, c-IEd-IV -

(D) a-IV, b-IIL, L, d-II

(E) Question not attempted / ST T

[P0 )

72

73

Which City of Rajasthan is called the

" ‘Menhdi Nagri’?

(A) Jaisalmer

®) Jaipur

(C) Sojat

(D) Amber

(E) Question not attempted
TSR 1 B 9T 98T e 77 weara % ?
(A)  SrEEET

(B) s

(C) «r@

(D) s

(E) orgaia 9ed

Arrange the growth stages of maize crop.
1.  Planting

2. Silking

3.  Tasseling

4.  Physiological Maturity

Choose the correct answer from the options
given below :

(A) 1,2,3,4

B 3,1,2,4°

C 1,3, 2,4

D)y 2,1,3,4

(E) Question not attempted
HeRBT B BEA H B ATl gha B sraeersit a?r
e BH H TaRgd B

1. g

2. THfebT

3. e g

4. QWW tr&wam

A 1

®B) 3,1,2
© 1,3,2,
D) 2,1,3

(B) oraia usA

/\ 77AGSP-2
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75

76

23

8 I H FIT DI
(A) Waﬁma%s%t !

(B) ¥ onuch Wiy ger T ¥

(C) FY wh waw A T T A

(D) 3w ¥ waw gty 9 anfea)
(E) oraia s "

& R @1 TaT i)

S R———
(&) @ @1

(B) e AWH B

(C) awafe Rafd &0 wen g«
(D) &g e

(BE) orat@ usd

‘3fen’ H SHIIl g AE ¥ —
(A) T
®) sig

(C) firet = e

(D) 7=

(B) oot usd
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78

Who is known as the ‘Tiger Man of India’?
(A)
®)
©
®
(E)

Gokul Bhai Bhatt

(&)
(B)
©)
D)
®)

that can be categorized

Xerophyte:-

Halophyte
(E) Question
o ()
ST Far B
(A) g
(B) wEgRy

i attempted
¥ o e

/\ 77AGSP-2

79 Match List I with List II

List  (River)

e

b. Chambal Rive; ‘II. Ganga of Wagad

c. Mahi River ©"III. Kamdhenu River
d. Luni River

@I%maﬁiﬁﬂi e wifsTg

e

w1V, Dead River

T 1 (& ) | a1 (AR % g )

a. H &I Waﬁﬁ'é’r
b. wwd T M. awTs &
c. whE L IL wmiy @
d. o W o IV. qa &

swer from the options

E ST BT T BN
(A) a-II, b-IV, ;-;d-n

(B) @IV, b-IIL,
(C) a1V, b-I, c-TErd-III

, d-1I

(D) a-IV, b‘L C_Izlﬂ

(E) Question not attempted / STTANT U

80

81

/\ 77AGSP-2

(©

"(E) Question

In cattle, out of the total dry matter (feed)
requirement of the animal, should
be met by Roughages (fodder) and the rest

Sty

by concentrates.

w3l ¥ P ¥ pw qF W A,
1 qRf AR = (am) o T T gn

| & off Ehm W ¥ B 3
(A) 1/4; 3/4
B) 2/3; 1/3

3/4; 1/4

D) 1/3;2/3

State Government of Rajasthan has signed
hich country to promote

(B) Switzerlan
(C) Japan
U.S.A.

82

83

Which of the following area produces

coriander at large seale?
(A) Kota

(B) Bikaner

(C) Jodhpur

®)

(E) Question not

Jaipur

Y TUEH HLET & 7

(A) B

(B)  FeriT

(C) siEgR
(D) g

g o 2020-21
firelr o

(A) 111
B) 222
(C) 333
(D) 444

(E)  Question not :



84 Thompson seedless is one of the imporfant

variety of :

(A)
(B)
©

®)

E)

Grape -
Guava
Apple |
Banana

-Question not attempted

o dred’ P ¥ ¥ feaem @

(A)
(B)
©)
(D)

(E)

VU
e
a9
m.

 arafed us

85 ‘wEEd o= W W GO W B W ¥ 7

(A)
B)
©
D)

(E)

- /\ 77AGSP-2

Fecd
BSEER

T
sl ue

86  Arrange the different classes of seedé from

its initial development to distribution stages.
1. Nucleus seed

2. | Breeder seed

3. Foundétion sgaéél

4., Certified seed

g1 & faf= ool @) o9 ahye faem 9
ot @Y araael 9@ A ¥ Q|

1. méﬁﬁr

2. Yo 99
3. U €W

4. yaim €

Choose the correct answer from the options

given below :

A g e Reedt § ¥ w8 waT B T AR

@A) 1,2,3,4
B) 4,3,2,1
€ 1,3,2,4

@ 2,1,3,4

" (E) Question not attempted / eraia 999

|

87

88

/\ 77AGSP-2

Paraquat can be categorized into
herbicide. ’

(A) Replacement

(B) Selective

(C) Whole body

(D) Contracte
(E) Question
T @Bl

attempted
el % sferta enfigpa

"~ Which of the fellowing is an example of

Weedicides.
1.  Glyphosa
2. Monocrot
3. Allethrin =
4.  Ziram

(B) 1 and 3
(C) 1,2 and 3 enly

(D) None of these

(E) Question not attempted

e § @ SraquTell 1 TaTeTOr BN Wl R ?

4. fem ’

W Ry e el ¥ ¥ wed wuge wOl @
T BT
(A) Faer 1
(B) %aw 1 ehx 3
(C) %aw 1, 2;98
(D) @ ¥ B
(B) orgaft 99t

27

1 89

90

Which of the following texts is NOT
composed by Maharana Kumbha?

(A) Sudha Praba;ndh

(B)
(©)
(D)
(E)

e @i 2 °

Rice

requirement?

following crops, has the



91

92

93

/\ 77AGSP-2

For which of the following crops, is the
yellow vein mosaic disease, devastating?

(A) Onion

(B) Okra

(C) Tomato

(D) Brinjal ‘

(E) Question not attempted

e & @ forw waw & fog, S B | 3,
guferan formyrerd B ¥ 7

(A) =S ’

- (B) B

(C) &\rRY
D) Fw ,
(B) orana ued

When did the battle of Udaipur take place?
TEAYL B W (IS) FA P

(A) 1670 '

(B) 1580

(C) 1680

(D) 1760

(E) Question not attempted / ARG 95T

Who is the author of the book *Jaisalmer Ka
Gundaraj’.

(A) Surjamal Miser

(B) Vijaydan Detha

(C) Gajanan verma

"~ (D) Sagarmal Gopa

(E) Question not attempted

T HT GO [RGB BN AGH BT B 7
(A) geoE

B) Rraar e

(©) I, awt

(D) @rTEe T

(B) oo 9

94 Which element(s) are highly mobile in

plants.

1. N
2.

3. Ca
4. K

Choose the most appropriate answer from

the options given below :

(A) land?2 oniy

(B) 1,2 and 3 only

(C) 2 and 3 only |

(D) 1,2 and 4 only

(E) Question not attemptéd |

drelt ¥ A WA o i 9 ¥

1. N
2. P
3. Ca
4. K

%mm'wﬁ%mmﬁ?m‘
=g AR

(A) Faw 13X 2

. (B) Faw 1,23

(C) aw 2 it 3
(D) ¥aw 1, 2 &K 4
(E) ogafa ves

95 From the féllowing who is associated with

Jaipur Gharana of Music? ’
(A) Bhimsen Joshi

(B) Jasraj

(C) Girja Devi

(D) Malikarjun Mansur

(E) Question not attempted

Prafifae & @ Wil % g A A
wted § 7

(A) e sigh

B) wEUS

(©). freem 3o

(D) =ivwwTeT wEGLT

(E) orgaRa sr%r

96 g 1% @ g I @1 e AR

T 1 T 11
‘a. w@Ad L e

b, e I e

c. g L W

d. $EFER IV.  oast
%ﬁﬁmﬁmﬁﬁ%ﬁw'wwaﬁﬁq:
(A) al, b-m, c-IV, d-I |

(B) all, b-l, c1V, d-11

(©) aL bV, I, d-III

(D) a-IV, b-I, c-II, d-IT

(B) erana wea

/A 77AGSP-2
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97

Arrange the stages of Rice crop in correct
order.

1.  Tillering |

2. Panicle initiation
3. Traﬁsplanting

4. = Seeding

Choose the correct answer from the options
given below :

(A 4,1,2,3
B 2,3,4,1
© 2,4,3,1
D) 4,3,1,2
B | Question not attempted

g B HEA DI AT B gEl e A
RYT WY g

1. @@ smEa
2. g9 IUEH
3. TR

4. dwF

ﬁ%mw%mﬁﬁ%éﬁwwwaﬁﬁq:
A 41,23
®) 23,41
© 2,4,3,1

®) 4,3, 1,2

(B) orgala usA



98

Match List I with List II

List I (Fort) List 1T (Built by)

a. Fort of Jaloge. L Jéisal Bhati

b. Fort of Soj II. Vira Narayana
c. Siwana Durg . 1II. Nimba

d. Fort of Sonar Iv. Naga Bhatta

o 1 % e el w R S

e 11 (Rre )

I S H
I & et
. fwn

V. s 51[‘&"

(A)

B)

(C) a1V, b-IL, cIIL, d-1

D) a-IV, bIlleL, ol

(E) Question not attempted / sraE U

/\ 77AGSP-2

A)
(B)
©)
®)
()

30

T B TUH

100 In which garden.

Heroes’, situated?

99 = When was the First Forest Policy announced

in Rajasthan?

v?r&fa%mmaﬁ?
2008 | |
2010
2012

2014

of Jodhpur, the ‘Hall of

Niwas garden

Question.not attempted

/\ 77AGSP-2
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